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  : 1ا���
 ����f  
���
  .5-دا�� ���� ��

 .f(x)  �� �!x��د  .1

  :أ()' �& ا�%�ول .2
  -6√8   4 x 

11√16   -15   f(x)   
  

��
  :2ا���
 ����g  +�,! ���� دا�� :g(8)=-14 

 .gأ�0/ ��
�. ا��ا�� ا�-���  .1

 .g(x)  �� �!xأآ�/  .2


��ا��  .3! ���
 . 0و  -8و  g :5��د �4ر ا2
�اد ا��


��ا��  .4! 
 .2,4و  -g :16��د ا2
�اد ا��; �4ره

  
��
  :3ا���


��د ()?�< �=���
 ���
  :��. دا�� �� ا��وال ا��
1. f(x)=4x 

2. g(x)=-2x 

3. h(x)=1,5x 

  
��
  :4ا���
  :ا��
��� ا�-���وال �ا���د 


�t(x)  �(B! ��CD �ـ  ا�)=�
�; ا��)?�. )1M(14 , 
2

5

−
) 

2( f(x+4y) = 4x+16y 

3( g(g(-7)) = -14. 

4( h(3) + h(5) = -24 
  

��
  :5ا���

   ����f �E>��
! �F��� دا��  :[ ]1 3(x 7) 2f (x) 5 f (x) 4− + − = −  

 .دا�� ���� f!�� أن  .1

2.  .�� G�أ ��!x  وy  ،���C�C� �Bد�
،f (3x 2y) 3f (x) 2f (y)− = − . 

3.  ;C�C,د ا���د ا���α  ا����� ;�
;BA(7)� �� ا�f  ��CDإذا 
�)I أن ا��)?�. ا�)=� 3 1)− α +.  
  

��
  :6ا���
g(x): ���=� ا��ا��   (x 2)² (x 2)²= + − −  


 g!�� أن  .1��K�4 دا�� ���� �,�دا. 

 .g(3)أ�0/  .2


 ���ا��  .3��
�=� >�?() L�D�Mاg  'ND(� ��
��� '��� ;F(O;I;J).  
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